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(A) 80 » 331 (B) 70 » 241 (C) 60 > 111 (D) 50 > 91
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(A) Pt?* (B) Ti%* (C) Niz* (D) Cd?*
TR A GR svR- B R 3 - T 9

(A) CH, ~ NH; ~ C,H, (B)NH; -~ C,H, ~ H,0

(C) NH; ~ H,O ~ BF, (D) C,H, ~ H,0 ~ BF,
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A3 7 B)F # Oz 5 B D)= 5 &

5 H %% (unit cel)if £ 5 4.08x 1078 cm > % A& 5 10.6 g/ml
5 P fEA 58 enE > *2 (unit cell) ?
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(A) 1.41 x 1076 (B) 1.41 x 1075 (C) 1.41 x 10~ (D) 1.41 x 1072
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[A] 25.

NH;z_ 3 B 4 =#t % -11 kcal » HoerdEst 5 103.4 kcal/mole » NoersEsy 5 226 kcal/mole » N — H
2_4Eit % % > kcal/mole ?
(A) 70 (B) 3.4 (C) 165.2 (D) 93
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(A) 4.65 (B) 4.89 (C)2.49 (D) 4.74
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Fe(NO3)2(aq) 520,122 S e Fe > FEWRE % TR % FeClyaq 17 110.62 #Feps » R 3 &
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(A) NH, (B)NH,* (C) Cco (D)NO
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(A)fst: 1 HF < HCl < HBr < HI (B)+ h4tz %A 1 F, > Cl,> Br,>1,
(C)#53gs :F > Cl > Br > 1 (D) *2 = :F < C” <Br <1I”
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(A) 14) (B) 24} (C)3%) (D) 4%)
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&+ 8 ?2(R=0.082 ¢-atm/(K-mole))

(A) 50 (B) 125 (C) 205 (D) 500
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2Ni(OH)Z(s) 7 ? - ’f@i{ﬁr-ﬂdfb ’ 1% * - WE,‘EI%F'& s /ﬁ F102 5 4% 0 BX '/2—% Bagmeg 0 2
P2 U AR LR 2(Cd e 112.4)
(A) 0.6 B)1 ©)1.2 (D)2.4

AEAA G Mg Mg 2 Mgz ik 0 F A AR BMgx Mg R A S 404

PMgh p AR R A R ARET AV BHF ? (Mg : 24.3)
(A) 60 (B) 65 (C) 70 (D) 80
TR E SR DY 0 S R ER AT F AP RE  RUEY L F THR S
CAARER  ARPTHR, PEF AP BRI G LD T LR R 2
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[B] 26. = #lfm § K § 44§ hRF i 7

(A) Zn?t (B) Sc3* (C)Cu™ (D) Fe3t
[A] 27. T 7|48 74P > I’F"ﬁ—,’f—f’ki%i&ftiﬁ'ti?

(A)Fr 1t 4% (B)# i 4= (O)F pa 4 (D)#! pa 42
[A] 28. 7 Fl4fas s » X A ¢ 2

(A) [Zn(CN)4]*~ (B) [Cu(NH3),]** (C) [Co(NH3),]** (D) [Cr(NH3)¢]3*
[C] 29. T7|fe -+ (¥ 58 & 3T 2,2 fe i=4gengE 7 3 (bidentate) ?

(A)k B)- ¥ & ©e = = ((D)¥ia Eayiis
[B 30. 7 Flag it 2 ¥ 5 Ed w7

(A) [Ag(5203),1° (B) [CU(NH3)4]2+ (C) [NiCl,]*~ (D) [Fe(C,04)3]°~
[A] 31. F 5l enT 3 lmfi b 3 )% & fhdt ?

(A)s'p° (B) 52102 (C) s?p* (D) s?p®

[A] 32. F 7| 2 2z 38 M > X T Fr ?
(A)Li > Na > K (B)Li < Na < K (C)Na > Mg > Al (D)Be > Mg > Ca

[D] 33.T;'J/7a\—4+§\l%§_—;tl ) ﬁ;l_:kl—,tiﬁl)a mﬂ/%?%‘?%"[ﬁzpﬁ?
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(A)NH, " (B) BF,~ (C) CF, (D) SF,
[B] 34. T 5] 2 e o 3 S g3 chE j2 5 [ s @ H LR
(A)Na™ > Na (B)S?~ > CI™ (C)Mg?t > Nat  (D)Nat > Kt
[A]35. T3 g4 ¢ > o3 A ER RiEd 9
(C) C,H,Cl, (D) HOOC — CH = CH — COOH
[D] 36. 7 7|4 B > fo 4 K B chREiF L0
(A)e & - m¢ B)# %= (C)e p& (D)4
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[C] 38. F 7| —'F‘Ti B+ iR e ?
(A) 1s22s22p®3s?2  (B) 1s22s22p®3s23p3 (C) 1522s%2p®3s23p° (D) 15225%22p°3s!
[C] 39. 5 B [Cr(NH3),Cl] T4 4+ » = s fcit e 4 2 42 ?

(A) Crzfie i #ic s 4 (B) Crz_ § it #ics +1

(C)Crz. 5 it#c s 3 (D)t s g+ 2 KA md
[Bl 40. T5| & wim 305 @R~ ?

(A)Li~ Na-~ K (B)Cu-~Ag-Au  (C)N-P-As (D) O ~ Se ~ Te
[Cl41. T 7] & w323 2P F > Pl a3+ Baugd > 382 F ?

(A)N, ~ 0, (B) Na ~ Cu (C) NaCl ~ HCl (D) NaCl ~ MgO
[Cl42. 75R+efg? » PE? LALHTF E?

(A) 1s?2s? (B) 1522322p (C) 1s22s12p3 (D) 1s22s%2p®
[D] 43. = 7]+ > x?—%l’_i;}ﬁ_ L E g+ ?

(A) H,PO,~ B )CH Co0~ (C)HSO,~ (D) OH™
(Cl 44. = 5| & fddgeng Hdc? > 557 ¥ L7

(A) +2 (B) +4 (C)+5 (D) +7
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(D) 4p°
(D) VO
(D) N, F,

(D) CS,
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[A] 46. 7 54 7 & figus » BT 3 F pEA 0 E R
(A) 4s3 (B) 3d° (C) 4f13
[A] 47. 7 71442 § 4 ¢ o fo K pelbds
(A) V205 (B) V203 (C) VO,
D] 48. T 5 g o3¢ § R R A > my e ?
(A) NoH, (B) NH,0H (C) (CH3)3N
[A] 49. T 75|53 ¢ > f?‘ﬁ{f@}“i!)—??
(A) SCl, (B) BeCl, (C) CO,
[C] 50. T 5 fm % H_it &4 2
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